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4. Let X be the concentration of potassium.
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b. Test Statistic, 
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. This is a two-tailed test, so the P-value is 
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 (or, if you are using Table A.3 in the text, 
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c. So we may conclude that the mean concentration differs from 23% and would probably choose to recalibrate.
6. 
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 (or, if you are using Table A.3 in the text, 
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.) So there is insufficient evidence to conclude the mean octane reading is greater than 90%.
8. Answers. 
a. 
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b. Test Statistic, 
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. This is a right-tailed test, so the P-value is 
[image: image10.wmf](

)

5

4687800027

Pt..

³=

 (or, if you are using Table A.3 in the text, 
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c. The result is statistically significant for all common choices of , so we may conclude that the shipment should be accepted. 
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